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u = 0.072sec h?[1.073(x — 10) ]+ 0.048 sec h?[0.876(x — 20)]
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+ &d ( u’,, —4u J+1+6u 4u;‘_1+u;‘_2) (3<]<122)
c=At/AX d = At/ AX? At =0.25 AX =0.25
iﬁﬁos”ﬁ#l: 2 |
u®=u" =0.072sech?[1.073(j - 3)Ax —10]
+0.048sech?[0.876( j — 3)Ax — 20] (3<)<122)
u:r; = ufzz =0 uln = u; = ug u{‘zz = uln23 = Uy,
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BRRfR . y(X)=Yye™ GELITE)
AEENICLEIENRIT:

y‘”A;yizay- (i=012,---,n) (GESME)
cJ: l’) y|+1 (1 + AX )yl
i=0,1,2,---,n [T L TEEiR I 5 &,

Y, 51+Ax a}yi_1

yl 1 1+AX -2
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y, =(1+4x-a)'y,

O0<(1+Axa)<l MDEZE
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(1+Ax-a) > HER  (REH)
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O<Axa<<l &9 3BE X=AX-i THHDD
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X(1)=0.0
y(1)=y0
yex(1)=y0*exp(a*x(1))
error(1)=(y(1)-yex(1))/yex(1)*100
do 10 i=2,nmax+1
X(1)=deltax*float(i-1)
y()=y(i-1)+deltax*a*y(i-1)
yex(1)=y0*exp(a*x(i))
error()=(y(i)-yex(i))/yex(i)*100
10 continue
yfin=(1.0+deltax*a)**nmax*y0



ETEIGR

==

OO ~NOOTPA~,WNPE —

— O

X Numerical Solution Exact Solution  error(%o)

0.00000e+00 1.00000e+00 1.00000e+00 0.00000e+00
1.00000e-01 9.00000e-01 0.04837e-01  -5.34621e-01
2.00000e-01 8.10000e-01 8.18731e-01 -1.06638e+00
3.00000e-01 7.29000e-01 7.40818e-01  -1.59529e+00
4.00000e-01 6.56100e-01 6.70320e-01  -2.12138e+00
5.00000e-01 5.90490e-01 6.06531e-01 -2.64466e+00
6.00000e-01 5.31441e-01 5.48812e-01 -3.16514e+00
7.00000e-01 4.78297e-01 4.96585e-01 -3.68284e+00
8.00000e-01 4.30467e-01 4.49329e-01  -4.19776e+00
9.00000e-01 3.87420e-01 4.06570e-01  -4.70994e+00
1.00000e+00 3.48678e-01 3.67879e-01  -5.21938e+00
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FDERI

Q= exp(— ij udx)
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u(x,0)= 1+ cos zx

ERDIFERFEH
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=5 Z TEIERIZEE T,
Program: BURG
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